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W : 3 e | [ goife : 80

Time : 3 Hours ] [ Max. Marks : 80
e : (i) 39 9-07 8 oot 27 yea &1 weit yee sifvard 1

Directions : There are in all 27 questions in this guestion paper. All questions are

compulsory.

(ii) WAt &g FrefRa 3id 396 ww g 3ifdsd &1
Marks alloted to the questions are mentioned against them.

(jii) T Y I LAFYED UG T T ITR alfore|
Read each question carefully and answer to the point.

(iv) 7o ST 1 Sgfamedia 7o 21 39 e & Fdd WIS & IR H TR fased
fea e 8| R fase s ITRyRas # foiael
Question No. 1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your
answer book. '

(v) T2 =T 1 BT T WUS Ueb 3 Bl & | J T 2 | 9 TP U 3 b
e & 99 T 10 F 16 7 Q) 36 & YT & | T &A1 17 H 21 b IR
37 & U & W T 22 § 27 A U 3P & WA &
Each part of question No. 1 carries one mark. Question No. ZALORY

are of one mark each. Question No. 10 to 16 are of two marks
each. Question No. 17 to 21 are of four marks each. Question No.

22 to 27 are of five marks each.
(vi) 3 JoT-1 & | R I fdeey el & qnf apferaar st # arieiiRed faeey
ver fbar T &1 ¥R weet 7 $act v faeed BT & TR alore|

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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Fr=foiRaa & & @ A W iy 8 &: 1

Which of the following numbers is not the irrational:

i) 2 (i) V3 (i) Ja (iv) 5

e agUE 2x-7x-15 3 AP BT BT B 1
The product of zeroes of the quadratic polynomial 2x?2-7x-15 will be:

(i) ? (ii) _—;E (iii) ; (iv) %

gfe foeit FAR STt &1 nai ug a_ =5n-2 &1 d 39T 9l ue 1
If the n'™" term of an A.P. a_=5n-2, its 4t term will be:

(i) 18 (i) 22 (i) 13 (iv) 17

%1782% &1 |19 8N 1
The value of Es;n?%g% will be:

(i) % (ii) % (iii) % (iv) 1

fedar e o Rerm g 3 P & ;
Co-ordinates of a point in the second quadrant are:

(i) (a, b) (i) (-a, -b) (i) (a, -b) (iv) (-a, b)
fEuTd IR0 x2-25=0 & HeT &: 1
Roots of the quadratic equation x2-25=0 will be: :
(i)s.5.:5 (i) .5, -5 (i) -5, -5 (iv) 25,0

afE AABC 3R APQR e & 578f AB=2 ¥, BC=3 I 31k PQ=4 0 &Y ar
QR T A &N: 1

If AABC and APQR are similar where AB=2 cm, BC=3 cm and PQ=4 cm,
the value of QR will be:

(ia2omes (ii) 4 cm (iii) 6 cm (iv) 8 cm
TRl o F el IRy Te3i Y sRisarsit &1 o g & - 1

The sum of the probabilities of all the elementary events is :
(i)=0 (i) 1 (i) 0.5 (iv) 100
[2]
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2. st 6 3R 20 BT srTsy orREvs [ & Lo s SIS 1

Find the LCM of the numbers 6 and 20 by using prime factorisation method.

3, it FXara TR0 ax2+bx+c=0 & fele b-4ac>0, A el B FPphd @ &Ale 1

If b2-4ac>0 for the quadratic equation ax?+bx+c=0, what will be the nature of

: the roots?
r 4., THARRK AMA1,3,5,7, ......... HT nal U 3 DI 1
: Find the nt" term of an A.P. 1, 3, 5, 7, ....... ;
3
5. aﬁtanA:Z?hsinAasrnﬁama?r%m 1
5 If tan A = % , find the value of sin A.

6. fag (5, 12) & He1 fog I R 571a BifsEl 1

Find the distance of the point (5, 12) from origin.

7. Trsar 14 39 9167 99 BT TP AT B TR 900 BT PHIVT AR BT & | AT BN ¢iaTs
difoTe| 1

In a circle of radius 14 cm, an arc subtends an angle of 90° at the centre. Find

the length of the arc.

8. Tazaitm: .

Prove that :

1+tan*A
1+cot’ A

9. U BH P UG H Fbel 2l of iapdr % 2 Y 39 3B B f Wiy 57d HIfSTe|
1

: A e B
Probability of getting success of a student in the examination is =, find the

=tan? A

probability of his failure.

10. HCF(306, 657)=9 f&ar &1 LCM(306, 657) FId BifoT| 2
Given that HCF(306, 657)=9. Find LCM(306, 657).

11. Rz oRE S 6, 2 TP sRea d= gl 2
Prove that g . .2 is an irrational number.
231 (HHG) [3] [ P.T.O.




12.

i3

14,

1S5

16.

231

fEend SieR0T x247x-60=0 & HeT 57 DIfoE| 2

Find the roots of the quadratic equation x2+7x-60=0.

& T 3Ry # DE||AC 31K DF||AE ¥ Rig difse f5 or- 2F & 2

FE EC

In the given figure DE||AC and DF||AE. Prove that gg= EE :

A

B ESREE

31@T / OR
gic P13 X1 TP AABC B Y3 AB TUT AC Bl HALN: D 3R E TR Afreda B T Yo

BC % THI=R & o R e 5 22 = 28 g

AB AC
If a line intersects sides AB and AC of a AABC at D and E respectively and is

AD _AE
AB AC®

O &< dTel T g &b fowg P IR ef @ PQ &I &aTs 8 F4 &1 afd 0Q=10 I & a
qd @ s sa Biforel 2
Length of a tangent PQ at a point P of a circle with centre O is 8 cm. If 0Q=10
cm, find the radius of the circle.

parallel to BC, prove that —

frafeRaa sifest &1 Areas s HifsTe: 2
Find the median of the following data :

It 3FeRTE 1-3 3-5 5=7 | . 7-9 9-11
Cla-:ss interval

FRIRAT 6 4 14 9 5
Frequency

vh At 7 4 7@ 3iR 6 Bl W &1 59 I H A v e Argemar Mt IRy 2 gﬂ'a?r

iiehdr o & fob e aret &1?
In a bag there are 4 red and 6 black balls. A ball is taken at random from the
bag. What is the probability that the ball drawn is red?

341 / OR
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18.

19:

e e e s
P AT W = P Dl AIBAT ST DITSTE |

One card is taken out from a well-shuffled deck of 52 cards. Find the probability

of getting a spade and not getting a spade.

ety 10,000 e & fore 3@ marl 37 @it & % 200 JA1 % 500 & HIC & B
foTe @81l Peraly 7 G 26 Are I fbdr | Fa BifoTe 6 379 T 200 31K T 500 & fasem-
fic e g fare 4

Kuldeep went to a bank to withdraw ¥ 10,000. He asked the cashier to give him

T 200 and T 500 notes only. Kuldeep got 26 notes in all. Find how many notes
of ¥ 200 and % 500 he received.

3Rd1 / OR
FrfeRea Was THBR0T g B UTH GRT & HifST:

Solve the following pair of linear equations graphically:

2x-y+1=0
X+2y=12
TP FHDIVT FAYS Bl HaTs 360 MR I 7 T A | afd 07 13 JH S &1 A1 3= &
TIE F1d BIfTE| 4

The altitude of a right triangle is 7 cm less than its base. If the hypotenuse is 13
cm, find the other two sides.

fSgail A(2, —2) 3R B(~7, 4) B SIe aTel IERIVS BT FHGHITOIT B dTel [S=g3H1 B
fFreniss s1ma Bifote| 4
Obtain the co-ordinates of the points of trisection (three equal parts) of the line

segment joining the points A(2, -2) and B(-7, 4).

20. Tz Hifse ®: 4
Prove that :
sin-cos6+1 1
sinb+cosf-1 secH-tand
3@ / OR
231 (HHG) [5] [ PT.O.
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22

23.

afe sin(A-B) = —; cos(A +B) = % 0°<A+B<90°, A>B dI A 3R B 3@ @ifore|

If sin(A-B)= %, cos(A+B) = %, 0°<A+B<909°, A>B, find the value of A and B.

5 7 A ATCY U THIDR i o HUR U STECT I G 2 | STeier T SAfereberd sar
T &1 BT &? 3 TBR S O B TSI SABA 1Td DI 4
A cubical block of side 7 cm is surmounted by a hemisphere. What is the greatest

diameter the hemisphere can have? Determine the surface area of the solid.

T S 480 fopHT. @1 X1 T T | 99 dal ] Afe g 3 8 AT /6. B g,
a1 98 3 g B JT B | 3 H¢ 31U ol | 9 DI A1 571 Difore| 5
A bus travels a distance of 480 km at a uniform speed. If the speed had been

8 km/h less, then it would have taken 3 hours more to cover the same distance.

Find the speed of the bus.
31di / OR

T URETT 140 Y, FAT &2(%et 1000 HY2 6T U MIdIGR Ul ST §Hd &2 dfe &, af
30! TS, Tl 3R el sma Sifswl

Is it possible to design a rectangular park of perimeter 140 m and area 1000 m??

If so, find its length, breadth and diagonal.

I & U fovg P U 10 HI. 30 Ha- & RIER BT 3999 DIVT 300 &l Had & RRR W)
U €557 B TIa<TdT 9T & 31K P &a57 & f3ER P71 359 PIUT 450 2| £3578U8 Pl oials
3R forg P F w9 & 1 F1a dIfSTE! (3 = 1,732 o) 5

From a point P on the ground the angle of elevation of the top of a 10 m tall
building is 30°. A flag is hoisted at the top of the building and the angle of
elevation of the top of the flagstaff from P is 45°. Find the length of the flagstaff
and the distance of the building from the point P. (Take 3 =1.732)

231 (HHG) [6]
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25

26.

5 I Broar & v g9 & 8 [T EEt U Sitar PQ 21 P 3R Q W el @ RER vh
fog T W wicrade &l ©l TP & 6iaTs 31T Bifowe| 5
PQ is a chord of length 8 cm of a circle of radius 5 cm. The tangents at P and Q
intersect at a point T. Find the length TP.

31o5@1 / OR
I TR KT H U I & IR B TG ABCD W ar | R $IfSTe : AB+CD=AD+BC

In the given figure a quadrilateral ABCD is drawn to circumscribe a circle. Show

that : AB+CD=AD+BC C
R

A
P .

B

a {IeR 3R b HeR FaT8 & & WH WRER p HIek 3 - K 2| Rz e 6 vds o

% RIER 3 R @ 3 U 2 S areh it & sRe g & S - fiex

a+b

gl 5

Two poles of height a metres and b metres are p metres apart. Prove that the

height of the point of intersection of the lines joining the top of each pole to the

ab
foot of the opposite pole is given by = metres.

U6 a9 UF 3 UG & MHR &1 &1 39D Harg 8 I, 8 3R 3596 I RR (3
et g3 8) & Prsar 5 3. &1 g8 IR 96 U F W= g1} 9 $H §A | ey
@ B Micrat 59 T 0.5 0. o e ve e &, 31l St € a §99 3 R
&U UM BT U TIUTE T SR et STl &1 &<+ | STelt T G &l Tiiferdl ol dvet
F1a BTl 5

A vessel is in the form of an inverted cone. Its height is 8 cm and the radius of its

top (which is open) is 5 cm. It is filled with water upto the brim. When lead

shots, each of which is a sphere of radius 0.5 cm are dropped into the vessel,

231 (HHG) [7] [ P.T.O.



one fourth of the water flows out. Determine the number of lead shots dropped
in the vessel.
32di / OR

3l g1 BT U WU B W 600 BT HIVT IR Bl & | A T DY ATy 22 FH. &
T gRT §R) T su@vs &1 &% sid it
An arc of a circle subtends an angle of 60° at the centre. If the length of the arc

is 22 cm, find the area of the sector formed by the arc.

27. TafeRaa sifesi & agas g Hifore: 5

Find the mode of the following data :

T 3R . 10-10 | 10-20 | 20-30 |30-40]40-50

Class interval

FRERAT 20 40 47 34 19
Frequency

%k % % k ok
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